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-5 % 2 100, 000! 20074 20,000
—orE )| B 2 gt 33,0002 «2000H 6,600
—JIEH BRI (HAC 95)
10,0008 10251007 10,000
401 N &HIYL2 Y] 68,108 60,540 7,568
01 A& 67,500 60,000 7,500
ONBS(2US) RXSH(54,505F2| 15%)
10,0002 +6755 2= 67,500
03 Al& S CHHI 608 540 68
ONBS(2AS)RNES A&
67,500,000 %0.90/100 608
L& JI2(2eHS DA L A4 274,218 64,778 209,440
= 100,000
= 174,218
401 AlEHIL2OHY] 274,218 64,778 209,440
= 100,000
T 174,218
01 A& 272,000 64,000 208,000
O8H JI2S ¢ 2os a4
800, 0002 *50S 40,000
O89E0I M &% =5 2oS WHI(BIHO0IF &
X BOS 737SZE0| 5.4%) 800,000 <405 = 32,000
OL® JI2(20HS LEDSIIT WH(54,500S
=344 44%) 1,000,000 2005 200,000
3 100,000
= 100,000
03 Al&SCHH 2,218 778 1,440
S JES ¥ BoS A& AL2UH]
40,000,000 *1.08/100 432
O89EHO0IE &% =5 2OAS WAl Al&LHY|
32,000,0002 *1.08/100 346
OL® JI2(29H)S LEDSII? WHl(54,5005
Z=Z 4. 44%) 200,000, 0008 %0.72/ 100 1,440
AQAHE SAES 17,120 15,120 2,000
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S T2l
M MEBTAMNEA (M= /HLHET )

Bl AQHE SAES (etel: =3
_ _ _ Muo
SA-E . S(E) - MEAY - BES 0l & o e SImE=ET
22HE =F MIIAME =elHdHlA 3,120 3,120 0
206 M=l 3,120 3,120 0
01 M= bl 3,120 3,120 0
OA2HE =2HIIANE =2IE &AM
30,0002 «BMICH+13IH S S 3,120
SdT 120X 2 SAE 23S O3 SAES 14,000 12,000 2,000
206 M=l 3,000 3,000 0
01 M=zl 3,000 3,000 0
O120K 2 SAtE 23] DtS=3 SAES 2 &
KHAH = & 150,000& «5E «43] 3,000
301 et asg 6,000 4,000 2,000
10 HALAHIZ &3 6,000 4,000 2,000
O120K 2 S At 23 DtS=3 SAE2#S EItA
24 25,0003 x40 63| 6,000
307 G12t0l A 5,000 5,000 0
02 BIHANEX 5,000 5,000 0
O120K 2 S A 2ls] dXX 248t
100,000& *30H * 12/ 3,000
O120XH SAHE s E2R Hegs 7Y
50,0003 x40 2,000
Hegs (M2 ) (SSEMLE /TSI - 2129]) 120,000 100,000 20,000
LHEHHXI = 120,000 100,000 20,000
MetzelIsdES 120,000 100,000 20,000
02 JISEE3 120,000 100,000 20,000
01 JI=sd&E= 120,000 100,000 20,000
OMet2e| = 120,000, 000& 120,000
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